Polynomials Make A Match Record Sheet ANSWER KEY

After you have filled in your table, check your answers here.
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X(3x-13) =10

F
3x*=13x-10=0

11

3(x—-2)(x—-4)=0

C
3x* =18x+24=0

12

After a ball is dropped, the
rebound height of each
bounce decreases. The
equation y = 5(0.8) * shows
the relationship between x,
the number of bounces, and
y, the height of the bounce,
for a certain ball. What is the
approximate height of the
third bounce of this ball to the
nearest tenth of a unit?

6.0

13

The perimeter of a rectangle
is (10y + 18) units. If the
width of one side of the
rectangle is (2y + 3) units,
what is the value of the
length?

3y +6

14

The area of arectangle is

2y* +19y + 24 units squared.
If the length of one side of the
rectangle is (2y + 3) units,
what is the dimension of the
other side of the rectangle?

y+8
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If the functiony =

x> +12x+11 has one zero = -
11, what is the value of the
other zero?
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A rectangle has a length of 3x
+ 1 and a width of 5x — 2.
Which expression best
describes the area of the
rectangle?

15x* — x — 2 units squared

17

A rectangle has a length of 5x
- 3and a width of 3x + 4.
Which expression best
describes the area of the
rectangle?

M

15x* +11x —12 units squared




